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Equazioni differenziali — 0

DSol ve[{3y"'"' [X]+Y' [X] =20xe™™, y[0] =6, y' [0] =2},
y[X1, X]

{{ylx] »e* (25-51e**+32¢* +10x) }}

Funzioni di due variabili, punticritici—0

fIx_, y_1:=(9x*-y?) Log[x]
Expand [f [X, Y]]

9x?Log[x] -y?Log[x]

grad = Sinplify[{Together [DIf [x, y]. x]1, Together [D[f [x, Y], Y11}]
y2

{gx_7+18x|_og[x1, —2yLog[X1}
X

Reduce[grad == {0, 0}, {X, Y}]

(X =18& (y = -3 ||y =3)) || |x=

&&y ==

e

Hix_, y_1 = {{D[f [x, y1, x, x1, DIf [x, yI, X, y1}, {DIf [x, y1, x, y1, DIf [Xx, y1, ¥, y1}}
HIX, y1;
Print [MatrixFor m[H[x, y111;

gx:;yz +18 Log[x] —27)'
—Zx—y -2 Log[x]

Pri nt [{MatrixForm[H[l, -311, MatrixForm[H[1, 311, MatrixForm[H[i, O”}]
Ve

6 36 -6 18 0

O)' (76 0 ) (0 1)}

Integrale doppio — 0

fix,, y_li=s ——;
Cos[xy]?

Print [Assum' ng[l <y < I&&1 <X < Z J-%f [X, y]dlx”;
3 3 1

Print [J;_J-%f [X, y]dx dly]
1 J1

+Log[Csc[2] Sin[l]]

Numeri complessi — 0
zz =1+1

1+1
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Abs[zz]

ﬁ
Arglzz]

s

4
WL=v2 e®; w2 =-wl; Print [{wl, W2}]
{21/4 e%, _ol/4 e%ﬂ}

Print[
Sinplify[{{Re[e®*™8x1/w1], Im[e®*™8x1/w1]}, {Re[e®*™8x1/w2], Im[e®*™8«x1/w2]}}]]

1 1 1 1
e gl Uan gzl

Matrici, autovalori -0

1 k 1
afk_, h_]1:= [h 1 1]; Print [MatrixForm[a[k, h]11;
110

v = {{1}, {1}, {1}}; Print [MatrixForm[v]];

Print [MatrixForm[a[k, h].v]];

Solve[{(alk, h].v)[[11] = (alk, h1.v)[[2]1]1, (a[k, h1.v) [[1]] = (a[k, h1.v) [[311}, {h, k}]
k 1
11
10

=

1
lJ
1

2 +k
2+h
2

{{h-0, k->0}}
b =af[0, 0]; Matri xForm[b]

101
011
110

Ei genval ues[b]

{2, -1, 1}

Ei genvectors[b]

{{1, 1, 13, (-1, -1, 2}, {-1, 1, 0}}

Ot hogonal i ze [%]



